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1. (A) “  ,       .”  
.  14 

 

  :  :     . 

 (B) -   . ( ) 4 

  (1)     . 

  (2)    ? 

  (3)    . 

  (4)    ? 

  (5) -    . 

 

2. (A)    CVM    . 14 

 

    -      ? . 

 (B) -   . ( ) 4 

  (1)      ? 

  (2)    . 

  (3)    . 

  (4)     . 

  (5)    . 
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3. (A) AKRSP  NRM  . 14 

 
  DSC  NRM  . 
 (B) -   . ( ) 3 

  (1) NRM (  )    . 
  (2)    . 
  (3)     . 
  (4)      ? 

  (5)     . 

 

4. (A) “ ”  . 14 

 
    WTO  . 
 (B) -   . ( ) 3 

  (1)    . 
  (2)    . 
  (3)     ? 

  (4) “    ”  . 
  (5) CITES    ? 

__________ 
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1. (A) “The existence of natural resources can facilitate economic development.” 

Explain in detail. 14 

                        OR 

  Explain in detail renewable and non-renewable resources. 

 (B) Answer in 2-3 lines : (any four) 4 

  (1) Give the meaning of common property resources. 

  (2) What do you mean by externality ? 

  (3) What is meant by natural resources ? 

  (4) What is afforestation ? 

  (5) Enumerate benefits of multi-purpose irrigation projects. 

 

2. (A) Critically evaluate the CVM method for environment valuation. 14 

                               OR 

  What are the different types of use and non-use values ? Explain. 

 (B) Answer in 2-3 lines : (any four) 4 

  (1) What is hedonic pricing method ? 

  (2) Write the importance of environment valuation.  

  (3) What do you mean by surrogate markets ? 

  (4) Briefly explain the travel cost method. 

  (5) Give the meaning of environment valuation. 
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3. (A) Discuss the role of AKRSP in NRM. 14 

       OR 

  Discuss the role of DSC in NRM. 

 (B) Answer in 2-3 lines : (any three) 3 

  (1) Briefly explain the concept of NRM (Natural Resource Management). 

  (2) Give the meaning of social forestry. 

  (3) State different types of social forestry. 

  (4) What do you mean by Joint Forest Management ? 

  (5) Write the benefits of PIM (Participatory Irrigation Management). 

 

4. (A) Explain in detail Ramsar convention.  14 

               OR 

  Discuss the role of WTO in environment protection. 

 (B) Answer in 2-3 lines : (any three) 3 

  (1) Point out the significance of bio-diversity. 

  (2) Give the meaning of climate change. 

  (3) What is meant by global warming ? 

  (4) “Ozone layer as a protective shield”, briefly explain. 

  (5) What do you mean by CITES ? 

___________ 
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1. (A)     .     
 . 14 

 
    ,     . 
 (B)     . (  ) 4 

  (1)       ? 

  (2)       ? 
  (3)           ? 

  (4)   . 
  (5)        ? 

  (6)          ? 

 

2. (A)     -    . 14 

 
     NPV  IRR    . 
 (B)     . (  ) 4 

  (1) ‘Pay-back’    ? 

  (2)      . 
  (3) Project  Time Profile  . 
  (4)           ? 

  (5)   (Operational cost)       ? 

  (6)       ? 
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3. (A)  -   . 14 

 
         . 
 (B)     . (  ) 3 

  (1)         ? 

  (2)         ? 
  (3)       ? 

  (4)        ? 

  (5) Joint Stock Companies    ? 

 

4. (A)        . 14 

 
            . 
 (B)     . (  ) 3 

  (1)      . 
  (2)        ? 
  (3) Hedging   ? 

  (4)    -     ? 

  (5)  -  . 

__________ 
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1. (A) Define Diversification and Mergers. Explain the theory behind diversification and 

merger.  14 

                                 OR 

  Discuss the meaning, scope and significance of industry economics. 

 (B) Write in one or two lines : (any four) 4 

  (1) What is the descriptive element of industrial economics ? 

  (2) Specify the analytical part of industrial economics. 

  (3) What is the major differences between micro-economics and industrial 

economics ? 

  (4) Define innovation. 

  (5) Describe the absolute method for measuring market concentration. 

  (6) How the form of entry determines market structure ? 

 

2. (A) Discuss the various financial ratio for accessing the performance of the firm. 14 

OR 

  Critically evaluate the NPV and IRR methods for evaluating investment 

expenditure . 

 (B) Write in one or two lines : (any four) 4 

  (1) What is pay-back method ? 

  (2) Define Average Rate of Return method. 

  (3) What is time profile of a project ? 

  (4) Specify the items included in establishment cost of investment. 

  (5) What constitutes operational cost ? 

  (6) What are the defects of theoretical pricing model ? 
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3. (A) Discuss the various characteristics of the firm. 14 

                 OR 

  Critically evaluate Marris’ theory of growth of firm. 

 (B) Write in one or two lines : (any three) 3 

  (1) Specify the determinants of optimum size of firm. 

  (2) Describe the assumptions of Weber’s theory of Industrial locatlisation. 

  (3) State Downie’s theory of growth of firm. 

  (4) What are the arguments against sole proprietorship ? 

  (5) What are the characteristics of Joint Stock Companies ? 

 

4. (A) Discuss the various sources of external industrial finance. 14 

                                OR 

  Discuss the various risks of industrial finance and also discuss measures to avert 

the risk of industrial finance. 

 (B) Write in one or two lines : (any three) 3 

  (1) What is the nature of industrial finance ? 

  (2) What is economic risk in industrial finance ? 

  (3) What is Hedging ? 

  (4) Specify the different sources of internal industrial finance. 

  (5) State the different types of debentures. 

__________ 
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1. (A)     ?      . 14 

                                      

       .       

  . 

 (B)   . 4 

  (1) R2   

   (a) 0  R2  1 (b) –1  R2  1 

   (c) –1  R2  0 (d)    

  (2)    

   (a) e = y – ŷ (b) ŷ = b̂0 + b̂1x  

   (c) y = b̂0 + b̂1x + ei (d) y = b0 + b1x + ui  

  (3)     

   (a) e = y – ŷ (b) ŷ = b0 + b̂1x  

   (c) y = b̂0 + b̂1x + ei (d) y = b0 + b1x + ui  

  (4)   

   (a)  (b)  

   (c)  (d)   
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2. (A)      .  14 

 

       . 

 (B)   . 4 

  (1)           ? 

   (a) Cov(ui uj) = 0 

   (b) rx1
 x2

  1 

   (c) E(u2) = u
2 

   (d)    

  (2)            ?  

   (a) Cov(ui uj) = 0 

   (b) rx1
 x2

  1 

   (c) E(u2) = u
2 

   (d)    

  (3) Cov(uiuj) = 0        ? 

   (a)   

   (b)    

   (c)   

   (d)    

  (4) -   

   (a)    

   (b)   

   (c)   

   (d)    
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3. (A)     . 14 

 

       . 

 (B)   . 3 

  (1)    _________    . 

   (a)  (b)  

   (c) (a)  (b)  (d)    

  (2)    

   (a)    . 

   (b)    . 

   (c)    . 

   (d)     . 

  (3)        ? 

   (a)  (b)  

   (c)  (d)    

 

4. (A)        .  14 

 

   ,   ,      .    

. 
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 (B)   . 3 

  (1) yt = b0 + b1 xt + b2 yt –1 + ut       ? 

   (a)    

   (b)    

   (c)    

   (d)    

  (2) yt = b0 + b1 xt + b2 xt – 1 + ut  xt – 1   xt   yt    ? 

   (a)  (b)  

   (c)  (d)    

  (3)     _________ 

   (a)  (b)  

   (c) (a)  (b)  (d)    

 

______________ 
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1. (A) What is Econometrics ? Discuss nature and scope of Econometrics. 14 

                                     OR 

  State assumptions of ordinary least square method, discuss the ordinary least square 

method in regression model. 

 (B) Multiple choice questions : 4 

  (1) The value of R2 is  

   (a) 0  R2  1 (b) –1  R2  1 

   (c) –1  R2  0 (d) None of the above 

  (2) Population regression equation is 

   (a) e = y – ŷ (b) ŷ = b̂0 + b̂1x  

   (c) y = b̂0 + b̂1x + ei (d) y = b0 + b1x + ui  

  (3) Sample regression equation is  

   (a) e = y – ŷ (b) ŷ = b̂0 + b̂1x  

   (c) y = b̂0 + b̂1x + ei (d) y = b0 + b1x + ui  

  (4) Ideal Estimator is 

   (a) Linear (b) Unbiased 

   (c) Best (d) All of three above 
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2. (A) Discuss about the problem of multicollinearity. 14 

                 OR 

  Discuss about the problem of Autocorrelation. 

 (B) Multiple Choice Questions : 4  

  (1) Which assumption is broken when multicollinearity problem is create ? 

   (a) Cov(ui uj) = 0 

   (b) rx1
 x2

  1 

   (c) E(u2) = u
2 

   (d) None of the above 

  (2) Which assumption is broken when Heteroscedasticity of error term problem is 

create ?  

   (a) Cov(ui uj) = 0 

   (b) rx1
 x2

  1 

   (c) E(u2) = u
2 

   (d) None of the above 

  (3) Which problem rises when Cov(uiuj) = 0 assumption is not followed ?  

   (a) Auto correlation 

   (b) Heteroscedasticity 

   (c) Multicollinearity 

   (d) None of the above 

  (4) Use of Durbin-Watson test is   

   (a) Heteroscedasticity 

   (b) Multicollinearity 

   (c) Auto correlation 

   (d) None of the above 
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3. (A) Discuss about Dummy variables. 14 

                OR 

  Discuss about components of time series. 

 (B) Multiple choice questions : 3 

  (1) Use of Dummy variable is for _________ variable 

   (a) Quantitative (b) Qualitative 

   (c) (a) and (b) both (d) None of the above 

  (2) For seasonal analysis _________.  

   (a) Average method is useful 

   (b) Median method is useful 

   (c) Mode method is useful 

   (d) None of the above method is useful  

  (3) Which factor should be compulsory in time series ?  

   (a) Prices (b) Cost 

   (c) Time (d) None of the above 

 

4. (A) Discuss about Koyck method in distributed lag model. 14 

                       OR 

  Discuss about lag model. Auto regressive model, distributed lag model. Discuss 

about reasons of lag. 

 (B) Multiple choice questions : 3  

  (1) Which regression model is  

   yt = b0 + b1 xt + b2 yt –1 + ut ? 

   (a) Distributed lag model 

   (b) Autoregressive model 

   (c) Simple lag model 

   (d) None of the above  
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  (2) What about the influence of xt – 1 on yt compare to xt, in yt = b0 + b1 xt + b2 xt – 1 + ut 

model ?  

   (a) more (b) less 

   (c) equal (d) none of the above  

  (3) Lag model is _________ 

   (a) Static (b) Dynamic 

   (c) (a) and (b) both (d) None of the above 

 

______________ 


